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15 S ONAL et g [UE [iEEs K=
g BoR | Ra R | EmE | &S wE | FEE | &S BE | =% | B | wE oo ibEn A BRE | 0~k 9~15WF | 15~24H;
[m/s] [m/s] [C] [C] [C] [%) [%) [%) [%) [hPa] | [hPa] | [mm] [1mm] [mm]

01 2.8 Jedkra 14.2| dtdLvs 10.8 18.0 6.3 53.4 77.5 28.3 58.8( 1018.4| 1021.0 0.0 0.0 0.0 [ [ 5
02 1.3| dtdtva 6.5( JLdkra 8.9 11.4 5.2 54.9 69.9 40.5 57.6| 1027.5| 1030.1 0.0 0.0 0.0 i = =
03 0.7 Jedkra 4.0( Jedbvs 11.8 14.4 8.8 66.3 82.2 54.4 60.1| 1022.9| 1025.4 0.0 0.0 0.0 iR [§E] =
04 0.8 JLikva 6.2 dtdkvs 14.9 20.3 10.9 72.0 87.2 54,7 63.6( 1012.1| 1014.6 0.0 0.0 0.0 = i =
05 2.9 Jedeva 14.2| dtdLvs 16.3 19.5 12.1 50.4 86.6 34.9 59.6| 1014.8| 1017.3 0.0 0.0 0.0 & = =
06 1.3 it 11.8 it 10.1 12.2 9.3 79.8 93.3 b5.2 65.5| 1015.5| 1018.1 0.5 0.5 1.0 [§i] = =
07 0.7 Jkva 7.4 ks 10.7 15.1 8.0 80.5 9.1 45.8 70.0( 1008.3| 1010.9 0.0 0.0 0.0 = i i
08 1.9 Jkva 9.4 B i 8.8 12.4 5.1 53.8 81.3 31.6 65.0( 1013.1| 1015.7 0.0 0.0 0.0 i i i
09 3.4| Jkdkva 13.4| Jkdkva 6.4 9.6 4.1 42.4 76.3 26.1 58.2| 1019.8| 1022.4 0.0 0.0 0.0 i = i
10 2.3| Jdedkra 9.6 B i 5.4 8.7 2.4 46.6 61.3 34.1 54.6( 1025.9| 1028.5 0.0 0.0 0.0 = i i
11 1.1] dkdkva 12.1| dkdkva 3.6 7.6 -0.8 65.6 91.6 42.5 57.8( 1027.0| 1029.7 0.5 2.5 7.0 i = [§f]
12 2.9 Jedkrs 16.3| dkdkda 6.2 10.3 2.4 74.5 93.3 42.7 62.8( 1012.2| 1014.8 1.0 4.5 13.0 5§ = i
13 2.9 Jdedkrs 14.1| Jkdkva 6.6 9.6 3.4 50.9 80.0 31.1 59.1| 1017.5| 1020.1 0.0 0.0 0.0 i = i
14 3.8 Jedkrs 15.7| JkdtvE 5.2 9.0 1.7 46.6 7.7 27.7 55.3| 1018.8| 1021.4 0.0 0.0 0.0 i i i
15 3.1| dkdkvd 15.6| dtdtvs 4.8 8.8 0.9 41.8 56.1 30.0 51.2| 1023.9| 1026.5 0.0 0.0 0.0 i 5 i
16 0.7 it 4.4 JedkdE 2.4 6.6 -2.3 59.2 76.3 41.6 53.6| 1021.0| 1023.6 0.0 0.0 0.0 i i i
17 1.1] dkdkvs 6.0 EE 6.1 12.8 1.3 69.6 88.3 44.9 58.3| 1005.0| 1007.6 0.5 0.5 1.0 W i i
18 2.8| dtdtrE 13.8| JkdtvE 8.9 13.1 5.3 47.6 77.5 29.4 55.0( 1008.7| 1011.2 0.0 0.0 0.0 i i i
19 1.5 5] 9.2 5] 7.8 13.1 1.9 50.3 70.5 30.2 53.5| 1012.8| 1015.4 0.0 0.0 0.0 i i i
20 1.3 B o] 5.1 b 8.0 14.0 3.0 56.2 74.4 30.5 54.2( 1016.7| 1019.3 0.0 0.0 0.0 i i i
21 0.7 HILHE 4.1 JbE 7.2 13.7 1.3 60.4 85.2 33.6 56.0( 1021.9| 1024.5 0.0 0.0 0.0 i i =
22 0.8| JtdtrE 4.5 it 8.8 12.1 4.6 62.9 78.0 50.2 58.0( 1016.9| 1019.5 0.0 0.0 0.0 i = =
23 0.7 dtdtra 4.6 B o] 9.6 11.6 7.8 71.7 79.7 61.9 62.1( 1012.7| 1015.2 0.0 0.0 0.0 = = i
24 4.8| JtderE 21.5| dtdkra 7.3 10.0 3.5 441 89.1 27.4 56.7( 1013.7| 1016.3 0.0 0.0 0.0 i i i
25 1.0| dtdtvE 7.5 dtdkrE 4.3 9.6 -0.6 45.4 64.7 24.7 53.2| 1019.3| 1021.9 0.0 0.0 0.0 i i =
26 0.6| Jbdt= 4.5 b 5.8 12.3 -0.2 55.1 72.7 36.3 53.7( 1012.3| 1014.9 0.0 0.0 0.0 = = i
27 2.6| dtders 12.2| dtdkvs 8.5 14.6 5.1 46,3 66.6 24.4 51.5| 1004.6| 1007.1 0.0 0.0 0.0 5 i 5
28 4.1 dedkvE 17.1| dtdkvs 3.6 7.1 -0.2 36.8 57.7 19.9 47.0( 1009.1| 1011.7 0.0 0.0 0.0 i i i
29 3.4 dedkvE 14.5 ks 3.4 8.7 0.0 33.0 46.3 17.5 42.8( 1013.4| 1016.0 0.0 0.0 0.0 = iR s
30 3.0( dtdkvE 15.4 B o] 3.3 8.8 -0.7 38.1 60.5 19.7 41.3( 1020.5| 1023.2 0.0 0.0 0.0 i i i~
31 2.8 B | o] 13.1| dtdkvE 4.0 9.1 -0.5 41.3 60.0 26.1 41.3] 1025.8| 1028.5 0.0 0.0 0.0 i i s

51E 2.1 Jedkra 7.4 54.8 56.0| 1016.5[ 1019.1

el 12.0| dtdtva 21.5| Jedkra 20.3 9.1 70.0( 1031.0| 1033.7 1.0 4.5 13.0

ECHF 12/24 12/24 12/04 12/07 12/11| 12/11| 12/12| 12/12

10:23 10:17 15:04 02:07 09:42| 09:42( 00:40| 01:50
IE(E -2.3 17.5 41.3| 1000.0| 1002.5
fenlicd 12/16 12/29 12/17| 12/17
06:59 10:22 13:58| 13:58
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